
习题六解答 
[image: image1.png]1. N=GFEDCBA = GFEDX (1003-3) +CBA
=CBA -3X GFED (mod59) «
2. N=GFEDX (1007-7) +CBA





　　（∵1007＝19×53）
[image: image2.png]3. N=DCBA+GFEX (10004-4) =DCBA -4X GFE (mod61) .
4. N=GFEDCBA =GFEDX (1005-5) +CBA

=CBA—5X GFED (mod67) «

5. N=GFEDCBA=GFEDX (994+6) +CBA

6 X GFED + CBA (mod71) »





　　6.N＝31428576≡31428＋576≡32004
　　≡4＋32≡36（mod37）.所以不可以。
　　7.x=1。
[image: image3.png]8. N=517214316+ 72°=0 (med2) ;

W=0 (mod3) , = N=0 (mod6) N=3 (modd) .

9. FEIT#HIN= (10001000100) , - (10001000) ,= (1100110011) ,
s (9) = C1001) 5, EEAETHHRRE,

Qa0 ,+ (1001) , = (1011011) 4,



∴9｜N.所以，可以整除6，不能整除9。
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